
=LPDB����

3UDFRZQLN�5R]NãDG���GU�%HUGRZVND�$JQLHV]ND��7\J������

�������������7\J����

3RGVWDZ\�IL]MRORJLL�GU�%HUGRZVND�$JQLHV]ND�$%�
����� ���%�/����/

ZJ�KDUP

�������������7\G]���

GU�%HUGRZVND�$JQLHV]ND�$����

5(=(5:$-$�1$�������������

�������������7\J����

3RGVWDZ\�IL]MRORJLL�GU
%HUGRZVND�$JQLHV]ND�$
%������ ���%�/����/

ZJ�KDUP

�������������7\J����

3RGVWDZ\�IL]MRORJLL�GU
%HUGRZVND�$JQLHV]ND�$
%������ ���%�/����:

ZJ�KDUP

�������������7\J���������������������

)L]MRORJLD�Ī\ZLHQLD�F]áRZLHND�GU�%HUGRZVND
$JQLHV]ND�DE���������ĩF]L'�0����/�

SR
QL

HG
]L

Dã
HN

�������������7\J���������
����������������

6HQVRU\ND�L�ĞURGNL
]DSDFKRZH�GU
%HUGRZVND�$JQLHV]ND�$
����� ���.�0����:

�������������7\J������
�����

)L]MRORJLD�F]áRZLHND�GU
%HUGRZVND�$JQLHV]ND�$
%������ ���.�/����:

�������������7\J����

%LRLQIRUPDW\ND�GU
%HUGRZVND�$JQLHV]ND�$
�����.20387(52:$�
���%�0����/

�������������7\J���������
����������������

)L]MRORJLD�Ī\ZLHQLD
F]áRZLHND�GU�%HUGRZVND
$JQLHV]ND�$��������
ĩF]L'�0����:

�������������7\J����������������������

)L]MRORJLD�Ī\ZLHQLD�F]áRZLHND�GU�%HUGRZVND
$JQLHV]ND�$%���������ĩF]L'�0����/�

������
�������7\J
���

3RGVWDZ\
IL]MRORJLL�GU
%HUGRZVND
$JQLHV]ND�
$��������
%�/����:

ZJ�KDUP

�������������7\J����

3RGVWDZ\�IL]MRORJLL�GU
%HUGRZVND�$JQLHV]ND�$
����� ���%�/����:

ZJ�KDUPZ
WR

UH
N

�������������7\J������
�����

(UJRQRPLD�L�IL]MRORJLD
SUDF\��Z��GU�%HUGRZVND
$JQLHV]ND�$%��������
,%�,����:

�������������7\J������
�����

(UJRQRPLD�L�IL]MRORJLD
SUDF\��ODE��GU
%HUGRZVND�$JQLHV]ND�D
E������ ���,%�,����/

������������
7\G]���

GU�%HUGRZVND
$JQLHV]ND�$%�
���

5(=(5:$&-$
1$�(*=$0,1
������

�������������7\J����

3RGVWDZ\�IL]MRORJLL�GU
%HUGRZVND�$JQLHV]ND�$
����� ���%�/����:

�������������7\J������
�����

3RGVWDZ\�IL]MRORJLL�GU
%HUGRZVND�$JQLHV]ND�D
E������ ���%�/����/

�������������7\J����

)L]MRORJLD�F]áRZLHND�GU�%HUGRZVND
$JQLHV]ND�DE���������'�/����/�

�������������7\J����

3RGVWDZ\�IL]MRORJLL�GU
%HUGRZVND�$JQLHV]ND�$
����� ���%�/����/

ĤU
RG

D

�������������7\J����������

)L]MRORJLD�F]áRZLHND�GU�%HUGRZVND
$JQLHV]ND�DE���������'�/����/�

�������������7\J����

3RGVWDZ\�IL]MRORJLL�GU�%HUGRZVND�$JQLHV]ND�$�����
���%�/����/

ZJ�KDUP

�������������7\J�����

6WDW\VW\ND�GOD
SU]\URGQLNyZ�GU
%HUGRZVND�$JQLHV]ND�$
�����.20387(52:$�
���%�/����/

�������������7\J��������
��

)L]MRORJLD�F]áRZLHND�GU
%HUGRZVND�$JQLHV]ND�$
%����� ���'�/����:

������
�������7\J
��������

)L]MRORJLD
F]áRZLHND�
GU
%HUGRZVND
$JQLHV]ND�
$%�������
�'�/����:

F]
Z

DU
WH

N

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

3UDFRZQLN�5R]NãDG���GU�%HUGRZVND�$JQLHV]ND��7\J������

������
�������7\J
����

6WDW\VW\ND
GOD
SU]\URGQLN
yZ� GU
%HUGRZVND
$JQLHV]ND�
$����
.20387(
52:$���
�%�/����/

F]
Z

DU
WH

N

�������������7\J�������������

)L]MRORJLD�F]áRZLHND�GU�%HUGRZVND
$JQLHV]ND�DE���������'�/����/�

������������
7\G]���

GU�%HUGRZVND
$JQLHV]ND�$%�
���

5(=(5:$&-$
1$�(*=$0,1
������������

�������������7\J�������������

)L]MRORJLD�F]áRZLHND�GU�%HUGRZVND
$JQLHV]ND�DE���������'�/����/�

SL
ĈW

HN

�������������7\G]��

)L]MRORJLD�Ī\ZLHQLD�F]áRZLHND�GU�%HUGRZVND
$JQLHV]ND�$%��������=&'�6����:

�������������7\G]���

6HQVRU\ND�L�ĞURGNL�]DSDFKRZH�GU
%HUGRZVND�$JQLHV]ND�$��������.�6�
���:

�������������7\G]���

)L]MRORJLD�F]áRZLHND�GU
%HUGRZVND�$JQLHV]ND�$
����� ���.�5����:

�������������7\G]��

)L]MRORJLD�Ī\ZLHQLD�F]áRZLHND�GU
%HUGRZVND�$JQLHV]ND�$%��������
=&'�6����:

�������������7\G]���

)L]MRORJLD�F]áRZLHND�GU
%HUGRZVND�$JQLHV]ND�$
����� ���'�5����:

�������������7\G]���

)L]MRORJLD�F]áRZLHND�GU�%HUGRZVND
$JQLHV]ND�$��������'�5����:

�������������7\G]���

)L]MRORJLD�F]áRZLHND�GU�%HUGRZVND
$JQLHV]ND�$��������'�5����:

�������������7\G]���

)L]MRORJLD�F]áRZLHND�GU�%HUGRZVND
$JQLHV]ND�$��������'�5����:

�������������7\G]��

)L]MRORJLD�F]áRZLHND�GU
%HUGRZVND�$JQLHV]ND�$
����� ���'�5����:

�������������7\G]���

)L]MRORJLD�F]áRZLHND�GU
%HUGRZVND�$JQLHV]ND�$
����� ���'�5����:

�������������7\G]���

)L]MRORJLD�F]áRZLHND�GU�%HUGRZVND
$JQLHV]ND�DE���������'�5����/�

�������������7\G]���

)L]MRORJLD�F]áRZLHND�GU�%HUGRZVND
$JQLHV]ND�DE���������'�5����/�

�������������7\G]���

)L]MRORJLD�F]áRZLHND�GU�%HUGRZVND
$JQLHV]ND�DE���������'�5����/�

�������������7\G]��

6HQVRU\ND�L�ĞURGNL�]DSDFKRZH�GU
%HUGRZVND�$JQLHV]ND�$%���������.�
6����:

�������������7\G]��

)L]MRORJLD�F]áRZLHND�GU�%HUGRZVND
$JQLHV]ND�DE���������'�5����/�

�������������7\G]��

)L]MRORJLD�F]áRZLHND�GU�%HUGRZVND�$JQLHV]ND�$�
���� ���.�5����:

�������������7\G]���

)L]MRORJLD�F]áRZLHND�GU�%HUGRZVND
$JQLHV]ND�$��������'�5����/�

�������������7\G]���

)L]MRORJLD�Ī\ZLHQLD�F]áRZLHND�GU�%HUGRZVND
$JQLHV]ND�$%���������=&'�6����/�

�������������7\G]���

)L]MRORJLD�Ī\ZLHQLD
F]áRZLHND�GU�%HUGRZVND
$JQLHV]ND�$%��������
=&'�6����:

�������������7\G]���

)L]MRORJLD�F]áRZLHND�GU�%HUGRZVND
$JQLHV]ND�$��������.�5����:

�������������7\G]���

6HQVRU\ND�L�ĞURGNL�]DSDFKRZH�GU
%HUGRZVND�$JQLHV]ND�$%��������.�6�
���:

�������������7\G]��

)L]MRORJLD�Ī\ZLHQLD�F]áRZLHND�GU�%HUGRZVND
$JQLHV]ND�$%���������=&'�6����/�

�������������7\G]���

)L]MRORJLD�Ī\ZLHQLD�F]áRZLHND�GU�%HUGRZVND
$JQLHV]ND�$%���������=&'�6����/�

�������������7\G]��

)L]MRORJLD�Ī\ZLHQLD�F]áRZLHND�GU
%HUGRZVND�$JQLHV]ND�$%���������
=&'�6����/�

�������������7\G]���

)L]MRORJLD�Ī\ZLHQLD�F]áRZLHND�GU
%HUGRZVND�$JQLHV]ND�$%���������
=&'�6����/�

VR
ER

WD

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

3UDFRZQLN�5R]NãDG���GU�%HUGRZVND�$JQLHV]ND��7\J������

������������
7\G]���

GU�%HUGRZVND
$JQLHV]ND�$%�
���

5(=(5:$&-$
1$�(*=$0,1
�����

VR
ER

WD
1

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


